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<L DK > <KE DK > <HEEZ DK >
EEEICAHZEW 51.10 29/ 4= R6.10.3 T RRZETEAR R6.10.31
IREZH 15.63 KE®RER R6.10.3 HEEEEDIRIE i
EECH(—BE) | 3547 jz pH 75| |EXKIZniEE =
BEENTR A 0.00 7K |BOD(mg/L) 210 PERAEhORE i
AL IRIEE () 1757 SS(mg/L) 43 EHRBRLESHEORE i
BYCHE® 68.67 ZHEHAEmMg/L) 15.0 BEKE-BEDEBICKDEERE i
BrE(m) 72.00 29/ = R6.10.3
B AE(m) 140.67 KEHEHR R6.10.3 < FEREEROEEIRR>
| pH 7.6
i
7k |BOD(mg/L) 29.0
SS(mg/L) 3.7
EREFEmg/D) 14.0
29/ 4= R6.10.3
KEREH R6.10.3
1111;» BRIEER(ER)(MS/m) 6.2
K| BRIGER(THR(MS/m) 12.0
BEWAA L (EFR)me/L) 2.3
EBIEMAA (T i) (me/L) 45




